
1 1205.29

2 s_ cfGtl/s !_ g]kfn ;/sf/ 1205.29

3 dGqfno M– ;+3Lo dfldnf tyf :yfgLo ljsf;  @_ ;:yf

4 sfo{s|d cfof]hgfsf] gfd M– lh=lj=;= sf]if  #_ hg;xeflutf 133.92

5 cfof]hgf sfof{no k|d'vsf] gfd M– lji0f' k|;fb zdf{ v_ a}b]lzs  !_ C0f

6  @_ cg'bfg

s_ cfGtl/s *_ rf}dfl;s aflif{s jh]6sf] t'ngfdf vr{ k|ltzt

(_ z"?b]lv o; cjlw ;Ddsf] s'n vr{ k|ltzt x'n nfutsf t'ngfdf 

v_ a}blzs 

u_ bfg;:yf ?= xhf/df

kl/df0f ef/ jh]6 kl/df0f ef/ jh]6 kl/df0f ef/ k|ltzt vr{ k|ltzt

1 uf]6f 1.0 0.02 30.00 1.00 0.02 30.00 1.00 0.02 100.00 30.00 100.00

2
uf]6f

4.0 0.19 290.00 4.00 0.20 290.00 3.00 75.00 240.00 82.76

3 uf]6f 1.0 0.03 48.00 1.00 0.03 48.00 0.00

4
uf]6f 1.00

0.03
48.00 1.00

0.03
48.00 0.00

5

uf]6f 1.00
0.03

48.00 1.00
0.03

48.00 0.00

6
uf]6f 1.00

0.03
48.00 1.00

0.03
48.00 0.00

7

uf]6f 1.00
0.03

48.00 1.00
0.03

48.00 0.00

8 ls=ld= 0.072 0.12 180.00 0.072 0.12 180 0.073 0.1263 101.389 180.00 100

9
uf]6f 1.000 0.03 50.00 1 0.03 50 1.000 0.0346 100 50.00 100

10 uf]6f 1.000 0.23 350.00 1 0.24 350 1.000 0.2422 100 350.00 100

11
uf]6f 1.000 0.07 100.00 1 0.07 100 1.000 0.0692 100 100.00 100

12 uf]6f 1.000 0.02 35.29 1 0.02 35.288 1.000 0.0244 100 35.29 100

 #_ hg;xeflutf

 @_ ;:yf

lhNnf ljsf; ;ldltsf] sfof{no

ndh'ª

cf=j= @)&!÷)&@ sf] jflif{s k|ult

cf=j= M  )&!÷)&@ &_ o; cjlwsf] vr{ ?=

jh]6 pkzLif{{s g+= M– 

o; cjlwsf] jh]6 ? 

 !_ g]kfn ;/sf/

 !_ C0f

 @_ cg'bfg

l;=g+= cfof]hgfsf] gfd O{sfO

s}lkmot

k5fl8 k/]]sf ju{ pTyfg sfo{qmd

jfnjflnsf nlIft sfo{qmd

afnd}qL kmlg{r/ lgdf{0f, uf}8f 

df=lj=cf]v/Lafnd}qL kmlg{r/ lgdf{0f, ;/:jtL 

lg=df=lj=tfl3|ª

t]>f] rf}dfl;s cjlw;Ddsf] ef}lts 

k|ult

t]>f] rf}dfl;s 

cjlw;Ddsf] vr{
t]>f] rf}dfl;s cjlw;Ddsf] nIfjflif{s nIo

ljkGg dlxnf nlIft sfo{qmd

afnd}qL kmlg{r/ lgdf{0f, k|eft k|f=lj= 

Ondkf]v/L

afnd}qL kmlg{r/ lgdf{0f, OGb|k'/L k|f=lj= 

ef/t]

afnd}qL kmlg{r/ lgdf{0f, ljBfHof]tL 

p=df=lj= tfs'{

plbk'/ – l/¶]ju/ -Jof/]d If]q leq_ 

;8s dd{t
:jtgf vfg]kfgL

sk{'6f/ l;+rfO dd{t

/fOgf;6f/ l;+rfO dd{t

kfOk v/Lb l;+rfO



13 ls=ld= 0.460 0.07 100.00 0.46 0.07 100 0.460 0.0692 100 100.00 100

14 ls=ld= 0.025 0.05 70.00 0.025 0.05 70 0.027 0.0515 106.4 70.00 100

15
uf]6f 1.000 0.03 50.00 1.000 0.03 50 1.000 0.0346 100 50.00 100

0.37 1495.29 0.39 1445.29 1205.29 hDdf

nfdf] s'nf] 6f/L l;+rfO, k'/fgsf]6

Go"O/f :s"n tnsf] ;8s gfnL lgdf{0f

du/kfTn] j;f}nf uf+p ;8s


